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All the questions are compulsory.

Attempt any fwo parts from each question.
. (@ Solve : 6%
(2x + tan y) dx +_(.J|:*—.1r2 tan y)@=0.

(b)Y Solve : | 6%

AL Ly =2,
& 2x .y

.

(c) Solve : 6

p2—9p 4R =

2 (@ Solve the initial value problem : 6
d’y . ,
E;;+4y=83m2x, »0) = 6, y'(0) = 8.
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(b)

(©)

(@)

(®)

Find the general solution of the differential

equation : ' 62
dl
xz—'r+x§,-+4y=2xlnx.
dx dx :
For the differential equation : 6'2
d'y dy

F_SE-HUI:O’
show that ¢ and ¢** are sulutipns on the interval
0L Bt 0, ARG these linearly independent ?
Justify.
Also find the solution that satisfies the- conditions

n0) = 1, y(0) =. 4.

Using the method of variation of parameters, solve the

differential equation : | 6
d’ -
EZX + 4y = sec’ 2x.

Given that y = ¢** is a solution of : 6

Py dy
2x + 1) =5 —4x + 1) — + 4y =
( ) =5 (x + 1) 4y = 0,

find a linearly independent solution by reducing the

order. Write the general solution.
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(¢) Find the general solution of : 6
d2

xzﬁ—ﬁxg +10y = 3x* + 6x°

given that y = x2 and y = x> are linearly independent

solutions of the corresponding homogeneous

equation..
(@) Solve : | 6
gae Ry T onE
-z (c-@x (a-byy
“(b) Solve : 6
dx dy |
3—+2=~x+y=1t-}
% di A S
- + . 48 x=1+2.
di dt
(¢) Check condition of integrability and solve : 6

ide = 2dy & P&
(@)  Eliminate the arbitrary Funétion f from the equation : 6
o2+ 2+ 2 22 —2) = 0
to form the cori‘espnnding pal:tial differential
equation.
(b)) Find the general integral of the partial differential
equation :° 6

X2+ 3% p-y @32+ ) q =27 - 1.
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(c)

(a)

(b)

Show that the equation :

xp = yq, z(xp + yq) = 2xy

are compatible and find their solution.

Find the complete integral of the equation :

Pxi+t gy =z

Find the complete integral of the equation :

pgz = p’xqg + p») + Pop + ¢,

62

6'2

Reduce the following differential equation to canonical

form :

6%
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